fSwH - 24—JLFEE - RE -

ERERER B ET)

No.1

bt B a—F [z sities  PHSO0E R=AEBRESS a—F 18220543 |  #¥IR SE B4 G B0
T (A H=mkE LSRR S e ZhELFEES a— R 223150 e AT #}HA  1E8h
arr| e | S ma| s i, w | M wmoens P, wa | M wmoens i e | ) wmwws i sk
T1/10|BF ] TR 9B | BhLs 0864 | 2[F% BA S |=2= 10768 || 3 (B =H 1|FRK 018 | 4|8R W 1| RBZEA 07589
100m +0. 9m +0. 9m +0. 9m +1. 6m
S[EfE Z=an 2 |EEdRs | 1099 |6|E3F tE 2|=kIs 098 | 7|5kx3F KAB 4|BmMA 1703 | 8|HE |- 3 |ZMX 11707
_ _ _ +1.6m _ +0. 9m _ +0. 9m +0. 9m
T1/10| B F ERE IEEEEEEEI 2130 2|2 BH 1 |PmA 21945 |3 |Fx WA 3|25 21745 4|55 =A 1 |2BRs 217558
200m +0. 4m +0. 4m +0. 4m +0. 4m
S|HE B 3 |ZHA 22700 |[6|XEB& BA 2|2RRa 2833 |[T[AE =% 3 |BHK 20740 |8|WIL BE 2|2ES 227558
_ _ +0. 4m _ _ +3. 6m _ _ +0. 4m _ _ +4 4m |
T1/10| B+ ERE T9E w1 |BhEs 0143 2[Rk BE .| HeEs 50709 (3| A& ZE 2 |BHeEs 50W54 | 4|/mIL B 2 |HREs 507559
400m
BEBEEAEEES 51%57 |[6|2@ i R=mAC 5229 || 7[BE xB 1|BES 52/43 8 |BE BA 2 |EBES 52744
IUNEEEES ! SCEE | |*2.0m| 1|2 BE 2 |mET TI09 || 2 [ETEaEes 2|2/ RaE 7992 |3|RE =% 2|@Es 8720 (4|83 K 2| HEF 8741
110mH[0. 914m/9. 14m]
5|KE R& 2|ABE 197036 || 6 | =f8 2 |2/@med | 21987 EH RiE 2| ABT x5
/10— =B+ /Eﬂﬁ w2 1|00 ER 2 |=lm 5876 2|58 A 1| EEE= 165084 || 3| HIME 2 |HEEs 165084 |4 |miE —W 1 |Bbm 7716
110mH[1. 067m/9. 14m]
AECEEEI S 7921 |[6[FIE BZ 2|p=s TR |[T|XE @+ 1|2kis TI78 || 8[FF mE 2 |BbEs 10727
IUNEER ERE TH®E B 1|25 55120 |2 B8 =K 2|2& 567598 || 3Pt B+ 2|2m 5000 |48 BE 1 |2RRe 12007054
400mH[0. 914m
SIRFEE 2 |BEEES 150270466 [ 2 ME 1 |2hEa X M EE TS T503W58[[ 8| AT HZ 2 |2REs 125037084
TI/10[BF Bk TE BB 2 ERJRAAR 2 e BE 2 NE B
4% 100mR 1|58 BX  1|2EES A | 2820 (2/EABKE  2|2EIE 215 |3Em B O |BEms 43720 || 4|mH B 1 |RES 435031
KB B 2 T AE 2 EE St 2 = A
| & #He 1 B #E 2 EK 2 LB mE 1
miE @A 2 5H mF 2 EE OBE 1 W BE 2
5lHE #E 1|25 423842 |6|EE BE 2|2ES 43861 || 7|BM B 1 |2EES 445007 || 8 |IERTAR 2 |ERS 445077
mEE K 1 =% BB 1 Bl e 2 WA =2
il & 2 Ml EE 2 BE A2 ER N 2
UNEER R WHE BEA 2 ME x| FE 5B 2 B BEA 2
4% 400mR 1| 8 2|BEES A | 3926876 2|EH £ 2|BIE 3HBHT|3|EE Br 1|2EES 35208072 4 |51 BA 1 |EIEES B | 3530787
As EE 2 T #E 2 Bl e 2 AT #HH 2
| |[Eth BB 2 MgE Bk 2 EE BE 1 AE BEA 2
BE BE 2 EE EN 2 wih F@ 2 LA Fng |
5|AE #ME 1|2E5 3531E50( 6 [fEMEF ALY 2 |EAFS 3536F01 | 7|Ah K8 1 |[/MRHS 3536ET8( 8|/ BER 1 [ESEEES B | 3438731
2H FE 1 WA Eh 2 M RE 2 =iE B 1
WE ks 1 =) #hs =1 T fiith 1
11/1023¢ Bl EERESE FLUAAC ]| 1m8b |Z2|mE £X FLUUBAAC | 1m8s |3 IUA =3 || BEEm O NEGEE N EE Tmi5
=1
B HEEEEE 75 |5|/hE MmA 2 |2khe w5 |7|F&E BA 1|2= mi5  |8|BK 3@ FLUBAC | Imi0
gl =& 1| 2Ras Tm70
T1/10| B F B T[El =it . |Edfks 32 am| 2 |=2E mF 2| 2hm tmb8 | 3|mE B— 2 |ERs 6mb6 || 4 |IUA FEE 1 |HEES Bma5
ENE Bk /36m40 (+1. 9m) +2.5m AL +1.2m +3.1m AEL
515 MLEIRE 1|/MRFE 6m32 6| % SEE 2|/MRHAS 6m26 (+3.4m) || 7 A &N 2 |EFS 6m12 IENTE: I T 6m04 (+4. 3m)
+1.3m 236m14 (+1. Tm) +5.2m L /35m50 (+0. 8m)




No.2
FSvD - T4 — )L RHEHE - R - BBHEERGBRLFET)

Wetn BN a— (2] B ER30E BAEEELHES a— K 18220543  #HIR B EZ(5) FE B 000
T (A H=mkE LSRR S s e 2 ZhELFEES a— R 223150 e AT #}HA  1E8h
ner| mn [ ma | W s i, wr | s iR, wa | M wmoens i e | ) mwews i sk
T1/70 qf_??c ERE BE TS G omiad |2 |k =@ 2| HET 9m3Z |3 |D BA 2| FEE a5 |4 |mA fhE 2| HEE 5m97
Rtz (5. Okg
S|BREXAE 1| BRmemE 5mg/ || 6 |Wh B2 2 |2IEEE 5mi3
IUNEEES ERES TN e 2|2kis 2n08 |2 |=2@ & 1 |REs TIm60 || 3 |1BF WBA 2 |Bbs Timi3 |4 |a@ %— 1|Bklis T0m26
Fa#L3%[6. Oke
5EE RE 2|MRAE= 0m04 |6 |[FHEAR 1 |REs 9m98 || 7|=@ JF 2 |BEm 8m98 | 8| L2 A8 1 |BE=Rm 8m77
T1/10|— R B+ ERES T Be TFCERE om92 | 2|mE @l R=—HAC 8m93
T1/10 %g%% RE2) TIBA @R  2|2kis 3me6 || 2 [[BIF WA 2 |REm 356 || 3 | PHEAL 1 |REs 30m97 |4 |=m TR 2| RES 30m17
mAE¥% (1. 75ke] ||
AR EET S 28m76 || 6|= g 1 |BES 2Imi3 || 1|FH w2 |REs 27m08 || 8|=@ JF 2 |BEm 26m17
T1/10| B¢ ERE e Az 2 |REs I AETEGEEEES S BB I EESS 50m3b | 4 |#k  ERE 2 |R=m 79m16
U £ [0. 80ke] ||
SIE =& 2|ZmMK 26mi3 || 6 |hil 52iE B Bm93 [ 7|LA o 2| ERes Zmi3 |8|RE o= 4| BHBAEKA 23m19
T1/10| %+ L, NG 216 (2| 1E BZx 2 |HEEe T2M50 (3L~ BE  2|2= 2050 |4 6E W | |BeEs 127559
100m || +2.3m +1. 6m +2.3m +2.3m
AR G 259 (6|1 EE 1 |2Rms 2865 1|5 HE 2 |2krs 127068 | 8| AEGLE 1 |2)= 128077
+2..3m +2..3m +2.3m +1. 6m
T1/10| %+ L, NG 22995 | 2@ P 2| Bheee O K R S 26706 |4|TH HE 2| 2lems | 20014 |
200m +1.7m +1. 7m +0. 8m +1. 7m
FIEEEERIEGTS 267034 (6|28 $EIE 2 |EHIREmEr | 268037 | 7|WE ZIBk 2 |mmeisso0d | 261038 | 8| LOtE®E 3 |=2m 267559
+1. 7m +0. 8m +0. 8m +0. 8m
T1/10| %+ L, TN =% 1 |2kms 5e34 || 2|Em kT 1 |EEES 50009 [3[ER Rz 2|2krs 0189 4| FH Ex 1| 2RRs | 1502820
400m
5| REBBEE | |[aRs 15021456 | KB =k 2 |2Rms A MEEEEE T 1502180 | 8 | FEEG o= | | BRds 1203770
TT/10| FZE&F Bl TIEBHRAE 2| E/merm 503 (2| =R P 5 2|BIIReSE 555 |3 Aa EZE 1 |FREET 6128 || 4|k 5 2 |PMRFESD 67591
100mH[0. 762m/8. Om] || +1. 4m +1. 4m +1. 4m +1. 4m
SIBE E= 1 |Blame 713 (6|28 Hi& 2 |ABT 8716 |T|7<7% 2+ 2| Bmamsp T BEEEEEEEE 87071
+1. 4m +1. 4m +2. 5m +1. 4m
/10— =& F /Eaﬁ R I A T 4807 | 2|1E BZ 2 |NEks 442 (3|l t' 2 |eRas 4191 |4 | =Z=  1|EBMEAEX | 16165
100mH[0. 840m/8. 5m]
5|AE @mE 1|2kes 57066 | 6|/ EE 2 |REm 1720 nE BR 2 |Ehs x5
T1/10| %+ Bl TIXE =k ?|2kms 506023 2|28 BEZx  2|2= 15061036 3 |2 Bx | |2Ras 30685 [ 4| K Wi 1|2 12067086
400mH[0. 762m
HEE AT 00746 [FEGO = | |Bkas ESEAH MG TS B BEE T 153247523
T1/10| %+ Bl T BAES 2 ARBAE 2 BB Z& |
4% 100mR 1|15 #E 2|z2@EEs 487084 [2|EE W 1 |HEHES 499040 ||3|HE BT 1|BEES A| 49875 |4|LHFEE 2|2BES B | 51817
Ik BE O MEERT 2 Bl tZ&x 1 tE #E 1
M T TE B 2 WA +tf 2 M ERE 2
AH BE | AR i 2 SRESE 2 ME fBE 2
5k BE  2|zEEs 517096 [[6|BTE D ZE 2 |E#ac 52#023 7|k K# 2|msrexFE | 52856 ||8|iRE =W 2|2RE 52%570
B T 2 HE &% 2 #HA X2 1 BTERE 1
BR iz 2 N tH BE 1 ERHOE 1




No.3
FSvD - T4 — )L RHEHE - R - BBHEERGBRLFET)

Beth B0 a— (2] pitias  FEHS0E BEmEEEITES a—F 18220543 | FHIE = ES() FR B0
LR R Rk BERRS s 2Tk RS a— R 223150 | gk &K {S3A
arr| e | S m| s i, wr | s iR, wa | M wmoens i e | ) mwews i sk
T1/10| %7 ERE FAEHH ? X5 mE 1 BH Ex 1 RE =0 2
4 x 400nR 1@t #Z  2|2EES A 4903896 2|LT R 2|2Ns 1500879 || 3 [Bs BE 1 |2EES A [4pupul4FE BE 2|2E3 453187568
xB Rk 2 T #Z&% 2 M OARE 2 HE #% 2
T AEBCE 1 rE O #F 1 HE B 2
"2 W WX tEF 2 N BE I === I
514E #F 1 |BEES 453195049 6 |FAE M 2|EBEES B | 4923806 7|41l T 1|24B/8ms B |45725#74|8|hUE Fm 1[6EEES D | 4932736
Kk IRFE 1 wE BF 1 HE BH 1 KABEE 1
_ AH HE LHEFE 2 BFEDE | 8% Bx |
11/10 iiﬁ% 0% 1 Zx 1|8l 1m50 TTEHF 1[(BES 1m50 FIED S$E  2|EEES Tmb0 4|15 2K 2|2lE 1m45
=
1% BRE ?|2REs 5 |[6|/Nk BE 2 |BE® mds ([ 7|A B 2 |EEEs M0 | 7|58 Xt 2|85 Tmd0
T1/10| %% ERES e EAEEI S 5mi6 |2 | BAMESR 2| EaEes SV KIGEEA R n07 (r3.2m || 4 | A B HE 1| ERme 4m88
Eg Bk +3.3m AL +3.0m AL 434m86 (+0. 9m) +2.1m AL
S mEZ 1 |ERs 8T |5 (A wE 2 |ERhs g7 (7| B @x 1 |EBEERm M0z |8|Aalsh 1|EIRmm im76
_ _ _ +3.0m AL +1. 4ﬂ - 2A4m71 (+0. 9m) +4.4m N7E L
11/10 ;gif[% ]Eﬂﬁ 1T[/h8 #Bl 2 |2EEEE 9m31 2| =@ HE  2|/MRFSF 9m08 HE LR 8m46 41R)IBtEE 2 |2)IEES m70
%[2. T2ke ||
S5IEER nia 2 |EEme 6m97 |6 |[@EE O, 2 |ZmF 6me2 || 7|MEE #m=E 1| ZIN@mETE 6m75 || 8| EJ3 2 |mE® 6mdT
T1/10 %ﬁff ! EREE) IR E 878 |2 |LEE&T 2| 2E= Bm3 3| Bk EE TR/ EETs | omb |4|EE BE T |B/iEETs | omes
% [4. Okg
T1/10 tg? : % EREE) TIBx &5 2B/ t&Ts | 20m6 |2|LHEHF 2255 22m0 |3 |2 HLYU 2 |BEES 2m01 4|28 25 3 |eilE 20m19
Mm% [1. Okg
5[ER CE 1|2Em om0 |6 |BARLEA 1 |RES om05 |7 %3 2R 2|REs 1861 || 8 |[NAGRE 1 | B2Em T8m50
T1/10 t?)? : ]Eaf TIBA BR 1 |E=E5 Wnds |2|B =K 2| BEEm 28m00 |3 |FEHAY 1|l A BEEEE S 21m28
Y #%[0. 60kg
SR B 2 |ERAS 20m02 |6| KB BE 1 |EEs Tomed |7 |BAVEA 1| RES om0 |8 |Bm® ®h  2|mes T6m36




No.1
FSvD - T4— )L RTEHE - FiFE - R - R - BBBEE

bl B a—F [22] pitias  THS0E R-AEBEEESRS a—k  [18200543] R BE E=(9) FB B-00w)
A R=MAkEEEREGS B RIS a—F [ 223150 | e #A  {58h
arr| e | S ma| s P w | M wmoens P wa | M wmoens P e | ) wmwws P sk
T1/10|BF EEIRIEAT EEEEE S 0864 | 2[Fx BA 3|2& 07068 || 3 |@ie ZH 1 |HmA 0985 |4|E7F %Z 2 |Ekls 108598
oo S[kF AE 4|ERK 03 |[6|HE B\ 3 |Z@X 07 |7|RE HA 2 |B@X %21 | &K BF 3|BMK /3]
T [F®E HA  2[wmmA 3]
T1/10|BF 0Bk | 2[v1.om| 1A B 1 |RBREIA | 10880 |22 28 2|ElBPRm | 1089 3|88 Bk |EBERs T2 |4|Al B2 2|2hs 13528
1%0m 5(ait5 RER H=MAC 1§29 [[6|XK+¥2 Z=F 3 |BHMK 11840 (7|FE Wt 2 (BFEES 117043 | 8 [FM4—ER H=AC 11785
WL mE 2| ERhs 73
UNEES EEKICAL NICEEEEEEEE TI#22 || 2|0E WE R=mAC | 11120 |3|ME BKR 2|25 TI730 || 4|5E 7008 3 |2emto5o0 | 115539
oo 5IFEE =R 2|IREE TT#42 |[6[BEEAR 2|@LIF 851 |[1|[EEFAR 2 |Efs 51 |8|LA =t 2|Enes 17057
& mBE 1 |2mEme 73
TI/10[BF TE |41 o1 |BREIXAR 2 |ERLIe 2N A REET T4 |3 B& 1 |2RLis T8 | 4| ARBAS 2| MRAT 17549
oo HEERERIEET L 62 |6|H@ B=® 1|25 62 | 7|%  BE 2 |EnE 65 8|88 =& 2|2a 117566
WE &i 2 |eRhs 73
TI/10[BF T | oo 1 |EAEAE 2 |2RLis 28 | 2|8k BR 2|BIImmE | 11948 |3[EA BE% 2|+~8F TID50 | 4|mA S [mw<as_xx=r| 113560
oo 5HH BRA 2 |BERES 761 |6|BE BB 2|EzEs TI768 | 7|/EA %k 2|mES 74 |8|Fx BF 2|25 1778
IER EN 2|ERS 117088
TI/10[BF TE (6|40 |EE & | BEEs 922 2[Rl E& 2|25 T30 | 3|l T 2|1 e 0 |4' Bz 2 |emRs 17046
oo SER ma | |BES 48 |[6[ZI ®E 1 |Z@k 58 |[7|HEE %Ak 2 |BIIEESs | 11170 |8|@F =@ 3|EmMA 117584
BEEEE] BE=AAC x5
TI/10|BF T& | |30 1|90 RA 2 |BBE T8 | 2|Fl Bm  Z|Zeeissow| 11566 |3 |EREZS 2| FEH 10 |4|CE BA 2|1 hFe 117582
oo SRR MY 1 |[Rile TI768 |6|1E 3o |BR=WAC | 11897 |71|8B BA 2[&LF EA BEEE TS /3]
EH Bk 2|IRES 73
TI/10|BF TR | 8|00 1 |E® AiB 2|BAK N AEEEE RS 82 |3|ma mx 1|1 hFe e |4 L8 BE 1 |BEG 1706
oo SR BE 2 |ERE 797 (6|28 &E 2|Ens 21002 |[1[A& BA 2|mET 12105 | 8|ME B | |BEs 127509
AK BN |EHER 73




No.2
bSvY - T4—ILFTEHE - FiE - BRR - RE - SLHRR

bl B a—F [22] pitias  THS0E R-AEBEEESRS a—k  [18200543] R BE E=(9) FB B-00w)
A R=MAkEEEREGS B RIS a—F [ 223150 | e #A  {58h
ner| e[ ma | W s il R B wa | M wmoens BT, VT BT, otk
T1/10|BF ok | O |2 4| 1 [ FE AE 2 |2RLlm T4 (2|58 MR 2 |=ekle TIB50 |3[Aa Bm 2 |eBls TI#051 | 4|FH Ress 2 |hem 973
oo SlEiE —m 1 |RES 982 |[6[LA Ml 1 |BafkEs I BEEEEER TS x5 B BW 2|2Ris /3]
SEE-—§ ?|2Bis x5
UNEES 08k |10[+3.on| 1 |BE ®A 2|2kLls TI#064 |2 WEEEA 2 |=2ms NN BEEEZERIREED 76 |4|MA BIE | |2eme 17578
oo 5|®% Xx# 2| PET 2803 (6] Bk 1 |Bake 2805 |7|RFx BF 2|kEs 127926 (8| BE 2|BE&ET 127589
S NEEES x5
T1/10|BF S8R |T1[+3. n| 1 |5 BA 2 |BbEm B2 (2|ME EE | |Baks TIF066 || 3| KB W 2|2mim 70 | 4|DRERA | |2BLls 17585
oo S[A& Bk 2|BiEmmbE | 11986 |6|mH=sm 1 |Bhe 89T |[7|FH 1l 2 |kEs 993 |8[BR BT 1| Ekns 127500
9[mEL B 1|k 12803
TI/10[BF a8 (12|40 | TRl x| Bhere 2805 (2|FE kM 1 |EBLls 210 3% BA 1 |E=Es 2017 | 4| KB HR 1 |BIEdLess | 1292]
oo BE S 28028 |6|EREL 2 |BAA 203 |[T|LE BB 2 |a@maT 12960 |8|EFR mIr 3 |BMA 12167
BEEE RG] x5
TI/10[BF TR BT |ER BE 2| EBE 2807 |2|B%A B 1| ABF 2811 |3 |ER MmE 2|ABF 7014 |45 ER 2|ABT 219
oo S| A— 2|EJImeeE | 12832 |6|EHF A 3 |BHT 7285 (7|E% =@ 1|2bEs 12057 |8|&A ®# 2 HET 12785
WEr B3 |zEmrssion| XRIB
/10| BF SoEk |14[+3.4m| 1 |[=EETHF 2|=m® 2837 |2|2K ME 2 |‘Bhe 238 ||3|fm=E a2 |mET. T2/038 |[4[RE =1 1 |2JImaEsh 12745
oo BEEEEE R EEES 28046 (6| EA 2|ABE 285 | 7|BA W 1 |ABF 1263 |8|XE WA 2|BBT 121566
IERE—H ?2(amas 12875
T1/10| B F BT HEEE A EEE: 86 |[2|%8 B~ 2|exks 27007 |3 BE WBE 1 |2BRs IV BEZER TS 12814
oo SMLD BRA T |ERRS 2821 (6|ER BF 2|RET 2832 |T|AE #Hx 2|2mias | 12047 8RB 3| ss® 12153
A% Bt 2|AEE A&FS
T1/10| B F 08 (16|41 m| 1| AE 2 |mEm 2813 (2|AF =% 2 |AmET 2043 |3 |Fk w2 |mEd 2045 4| BR BRI |ENS 20047
oo 5|7& F5 1 |mmmrosown| 121550 | 6|EE WE 1 |IRHAS 285 T8 B 1 |2BLls 12859 |8|AE RA 1|Bis 13813
NAREE 2 |eils 3]




No.3
bSvY - T4—ILFTEHE - FiE - BRR - RE - SLHRR

bl B a—F [22] pitias  THS0E R-AEBEEESRS a—k  [18200543] R BE E=(9) FB B-00w)
A R=MAkEEEREGS B RIS a—F [ 223150 | e #A  {58h
ner| e [ ma | W s i, Vs P, wa | M wmoens i e || wmmes | sk
/10 B F S 1701 5B Be  2|ErErssow| 12802 |2 |EE ER 2 |EBIE 2013 |3|BA —W 1| 2Rhs 222 || 4|[E e 2| BEm 127550
oom 5|FT B 1 |mmertssoon| 1251 (6|EIL A# 3 |BHBT 2882 |7 B2 WA 1|Eserssoun| 12883 |S[aT BF 2|BBIE 12788
ENITIG S B e 3]
T1/10| B+ S0k |18[+2.on| 1 |IHE Rel 2 |BiBmmeE | 11D92 |2|BR BE 1 |&he B9 |3 |BR =B 1 |sb= 2120 | 4%k &= BRD 5D | 121563
oo 5|EF A@W 2[PET 128567 |[6|AN WmE || HEREs 12188 |7 |3E &H 1 |BRLmE | 1289 (8|BET @ 1 |2BIs 137576
BE R 2| EEEs 3]
T1/10|BF 08k |19[+2 In| 1 [2E a2 |2IImEe | 12062 |2|[=UknA | |ERls T2]063 || 3| mk BA 2 |maiEw 120087 | 4|l mX Z2|Z)Imes | 191506
o SIRA W@ 2|BImEmE | 13506 (6B EZ=  2|&BT 307 |1 |BAE # 2 |ehhs 312 | |FE &E 2 |hES x5
FH BRI 1| AT 3]
TI/10| B 7 5 (2070 6n| T Bl R 2|EREiscow| 12801 |2|AE BE 1 |ERES T2005 |3 |BIE BiA 2| Z)meb R | 121098 |4 |@iE BEA 1 |SRmEd | 19102
oo SIER &% 2 |AEE 1304 |[6[laT & 1 |ZIIREsR | 13904 |1|PA @B 2|2mT 1310 |[8|BR EF 2 |Z)Imesd: | 13910
VZE BB 2|ERLmE | 13819
TI/10| B 7 6 213 o 1| mE 1 |EEs 083 (2| HE  2|AB+ 307 | 3|F5& AW 2|[HET 300 || 4| AH Bal 1 |ERT 137500
oo - R G 310 |6|R& Bk 2|@RT 316 | 7|RR XA 2|6BF 330 (8|59 &5 2 |ZFedLesd | 13186
IE 5 2|BIEeE | &W&FS
TI/10| B 7 Tk (22|02 |1 |FE A1 |ERE 2087 2| A8 BE  2|ERT TS0 3|k Bx 1 |ABF 12 |4|5R RE  2|BBT 317
oo 5[EE R 2 |[mEw 322 |6|%BR B 1 |mE® 348 | 7|EF @ 1 |emerssoun| 13958 |8|mE X 2|HE® 137581
BEEEERIEEL: 3]
TI/10| B+ 6 235 o T[0T —Z 2 [HET. 27586 || 2| =98 2 |ZIIEEm | 131016 |3 |REAmAE 1 |BRRem | 10022 |4|ERARE 1 |ABT 3745
oo S|EW =AW 2|@ERE 3048 (6[Heh H2  2|BN@mee | 1985/ |/|BlRE fim  2|ZJImEsh | 10864 | |GE FhER 2 |BIIRET /3
=% B 2 |ERRHT 3]
U EE T8k |243.0n 1|8 BRI [eBR&S T30 [ 2|BA —B1 1| 1RFT T334 (3| T 1 |ABE 3055 |4 B K B 2| ABT 137568
oo S|ER EE 1 |ABT 373 |6|ETREL 1|ABF 380 | 7|A Al 2 |AmE 13781 (8| HZ 2 |=)Izehe | 13186
BEIYC 1 |RET /3




No.4
bSvY - T4—ILFTEHE - FiE - BRR - RE - SLHRR

bl B a—F [22] pitias  THS0E R-AEBEEESRS a—k  [18200543] R BE E=(9) FB B-00w)
A R=MAkEEEREGS B RIS a—F [ 223150 | e #A  {58h
ner| e[ ma | W s P wr | s P wa | M wmoens P e | ) mwews P sk
T1/10|BF SCEE |25[+2.0m| 1 |5kE KB 2| BEHE ToR3b || 2P m 1 |2IEee | 191ds | 3|LA & 2 |A;e TSBT14 [4|BM B 2|ABF 13%086
oo F|EE Bt 2 |BRTERE | 1402 |6|HE BB 1 |ZRRmE | 14504 | 1|88 AR 2 |BIfmeE | 14508 |8|NE X2 1 |=ET 14917
O|E®m BT 1|ZmELEE | 14060
T1/10|BF 0% |26|+4. 20 1 [k BA 1 |2ImeReR | 1392 | 2|E=3F KR 2 |Z2INgEE | 13196 | 3|53 hE 2| HET 48510 | 4|FENT B 2|EHERS® 143529
oo GI%0E F  1|ZJImEbE | 14942 |[6|MIl w1 |ZIIREmE | 14947 |1|EF WA 2|BII@eE | 14853 |8|FE BE 1 |ZJImeF | 14965
T1/10|BF S8k |27[+3. m| 1| A0 ik 2| ‘e T3R092 | 2|RE Dot 1 |RES THP23 3|l BR  2|aBWm 4524 |4|L" W% 1 |HERS 143538
oo B SRESES 61 6| E mx  1|BE® 4080 |7|A%Z BE 1[FE® 600 | |FE Fi8 2 |BJImepF /3]
T1/10|BF S0k |28[+4.on| 1 RE MZ%k 2 |[miE® T4%026 || 2|[/NBk JAE 1 RIE® N HE R EEES 45087 | 4|A% @k 1[|HESW 154506
oo BEEREZIRIESES 5800 ([6|RE k@ 1|ZIImEsR | 15819 ||7|RBAE % 1|2IREHE | 15820 B &A1 |RET &A&FS
TI/10[BF SO0 (202 on| 1| LE BFE 1 [BHE 396 | 2[;EE F&@ 1 |RET 5808 |3 | LA =w 1 |BETR 523 |4|TB BA T[RET 57540
oo 5|2H 55 2|EREALmE | 15852 |6|A5 ZE 1 |ABT 5887 ([7|ATE =gh 2 |2mdtEs | 1992 | AR D 1 |[BhE 3]
TI/10|BF SR HEEEEE TS 217030 || 2|[BFE BH  1|PmA 21945 | 3|F% mA 3|2s 21045 | 4|5HE BA 1 |ERES 219558
2o 5|HE B\LC 3|EEK 2809 |[6|KXE =Z=F 3|BAK 20 | T|KF AE 4|BHKA 2263 | B HA  2|FmA x5
TI/10[BF TR | 2| on 1| A BA 2 |BRRS 2203 | 2[EF %kE  L|BBRis 227562 |3 |EE BA 2|BHMA 2066 |[4|TE BB 2|EREs 227568
200 5|[EE BF 2|2Es 26 |6[ME mE 2 |HaEs PHTA | T|EE 308 3 |EmEiosow | 23W27 |S|NB B 1|EES 237540
T1/10|BF S FIEEE RS 2058 |2|[ER e 2 |HeEs 22085 |3[BK R 2| BEEs BT 42T MBI |EEEs 23718
200 5EF BE 1 |RES W63 |6 EH B 1 |HEES R | [T BA 2 |BRAES x5 N BEA 2|BES x5
T1/10[BF T |40 N 1 |BRIRGR 2| 2Rl 22160 | 2[E® KB 2|BHA 22799 | 3[EEEAR 2 |@Lh BWN |4=% BB 1 |BES 237544
200 5|EA BE& 2|ABE 248 |[6[RREZS 2 |ABE W53 | |[E"E BE T |elm /3] T BE 3|Bilm /3]
T1/10[BF SRR TS 2E50 | 2|2 BE 2| emER& 23765 | 3[ME R 2 |BremEieR | 20021 |4|HRR Sk 2 |BIEERR | 241522
200 SRR &k 1 |TmES 20735 |6[ME& ZEh 2 |RkES 20039 | T|LAX @ 1 |BEIs 207566 | 8[FA R} 2 |REs 25514
T1/10[BF R® |62 1 |AE BE 2|2RLim 23780 || 2[BFE BoA 2|f@iLW 207538 | 3|mBE BA 2 |mET 2Ba] 4| BH "X 2|EBis 247548
200 5E R 1 |REs 252 6| RAREF 2 |HEm 20854 [T KiE ERE  |BAER 2uB% | (rE<vIL 3|Bis /3]
T1/10|BF T | |3 1| AR mE 2 |BRim 20503 | 2[HE w2 |mEs 2519 | 3| B | 2R 2021 |4 EH WE 2 |BRis 207527
200m 5AE mE 1 |EEEs 207556 |6 [BA EIr 1 |AmE BB | 1|BA B+ 1 |ABF 6823 | W& w— 1 |BBis x5




No.5

bSvY - T4—ILFTEHE - FiE - BRR - RE - SLHRR
bty B4 a— (2] g4 TR 0E R=AEBEHIEES 2 R [18220543] g RE E=(50) BB B-00W)
A R=MAkEEEREGS B RIS a—F [ 223150 | e #A  {58h
arr| e | S m| s P wr | s i wa | M wmoens P e | ) mwews P sk
T1/10| B¢ R | 8 [*2om 1 B BE  2|ERe 204 |2]=8 —& 2| %ERs 20738 3| 2R  E BEm 2085 | 4[EA mE 1 |2hm 25738
oo 5%  Bfe  |mmvas-<x=m| 25956 | 6|k BE 1 |BAA BRI |T[RE RA 1|Rls 6845 | [Am BB 2|BEs x5
T1/10|BF 08k | O [*2. | 1 [R R& | B 201033 2| RIT mE 1|25 268012 |3|=0 FR BREL, 500D | 261044 |4 AE EE  2|Z/IREsm | 26152
200m G5%E & 1| BfedtEbE | 201062 |6|FB =W 1 |ZIIREF | 26898 | |BHF ME 1|Rils x5 L A& T |Els 3]
T1/10|BF S0k |10[+3. 4njl 1| MBk GREE 1 |Bleme 207004 [ 2[R =on 1 [ RmEme 2450 |3 |2m  EE E)IRE T | 26052 |4|GHEAE | |mET 267580
o 5|RE AR 2 |BRiLmE | 20082 | [RA BB | RBES ERFS | [RE ®F 1 |[mmmLrso0| R FL BA 2| BIRES 3]
UNEES 6 1111, 0n| 1|7 ShE 1 |mmerosoan| 26047 2% BRI |EEBRs 2651 |3 |w T~ e wEELs5oG) | 211004 |4l T TR 1 |ZIIREss | 27845
o 5|TABEAES 1| @mmm 21749 | 6|ET @ 1 |emeroso0n| 28817 T =t RES %% T A EIE 3]
T1/10|BF S0k |12]+3. | 1 [Emk A2 2 |BINEERR | 288084 | 2|XEF Badr 1 |RES 20019 |3 |BF %k EJIEaRR | 208022 | 4|00 Mk 1 |ZJIEmaEse | 30509
2o G| eE 1 |mET 30723 || 6[WIT w1 |ZIIRERF | 30189 | |FHE Hi2 2| ZIIREF /3] WE =M 1 |A®m§ /3]
T1/10| B+ 0O (1372 on| 1|3 mm 2 |mET 267527 | 2[Em AE 1| BREJLERR | 27156 | 3|0 BE 1| ZIIREER | S111 | 4| K& RE 1 |ZIImeR | 3178
200 5|2H S5 2|BRLmE | 32921 |6 tE FTE 1 |RET 23 | T|REE % 1| BIIREF | 320046 |G|ET 2k 1 |mES 34590
T1/10| B+ SN T[BE W’ 1 |[Ehs D3 |[2[ER BE |BEEs 5000 |3[AE BB BEEs 50M54 | 4|&%L A 2 |BeEs 50559
400 S[EL @mE  2|BEMA G157 ||6|%E #hah  |R=mAC | 5229 7|l @R RER 5oEb1b | |k B 2 |BEls x5
T1/10| B+ oF | 2 TEE =B 1|Ebos SbA3 | 2[R BA 2 |BeEES 5332 || 3| & EHK Tap00 | 4|mBE Bk 2 |REs 547566
oo TR BA 2 |ERAS /3] NI R T 73 BF B ?|EZEs %% EE 2B |BERS 3]
T1/10[ B+ oE | 3 TeE BEX 2|2REs SORbAA 2[R SeE 1 |BhEm TG |3 |BH RE 1 |Ehm 5352 | 4|BER W= T |TRERS 547550
400 5|REE B |BAER 55192 | [BK R 2 |meEEs 3] BE Bh 2 |2hfs x5 ZH Bx 1 |ERfs x5
T1/10[ B+ ok | 4 I IEEE 52Fb00 || 2[BA fak 2 |mET SI0T | 3[BE mIr 2| EEEs 5b28 | 4|0k e 1 |BRAm 547593
400 5|LE #a 2 |meEs 557005 || 6 |[B3F MEth 2 |BfedLERR | 501064 | 7|LA A— 2EIs S6ET5 8|S R ME 2 |mETd 577536
T1/10[ B+ ok | O T[&EN BR 3|eim 55Eb21 || 2| RARESF 2 |HEm 5oI52 | 3|EX AR T |BRfm S0 |4 |mA o 1B 567530
oo 5|58 o 2 |mmmiosow| 58Rb3T T ma | |2kae 3] EH BE 3| 2)IEmE x5 BF Z=E 2|EBls /3]
T1/10| B F ok | 6 TBE =A ?|EZES 55899 | 2[EL KB 1 |PHEReS 6160 |3|KE W+ 2| Bmhs 536 | 4|BR BE 1 |Bhe 587587
400 SIAAREE 2 |&Ea T 5ORAT 6| KA B 1|eim 5OFP50 || 7|REE e 1 |@Em 500071 | 8| BZE 1 |@Es 153027505




No.6

ESw9 - J4—I)LFTEH - F:&E - R - RIS - BBERE
bt B a—F [z sities  PHSO0E R=AEBRESS a— & 18220543 |  #¥IR SE B4 G B0
T (A H=mkE LSRR S s e 2 ZhELFEES 2— R 223150 e AT #}HA  1E8h
arr| e | S m| s i, wr | s iR, wa | M wmoens i e | ) mwews i sk
T1/10[BF SCEE |/ TBA RE 2| |RET 56820 |2 (e Bx 1 |ENS 58058 | 3|EF BAR 2|=ma 58080 || 4| =R B 2 |mET 595041
400m ||
5|FE 2n  2|mET T5303765) 6 [TREBEAR 1| aBRs 504807 [R5 ZHLZ 1|2ES x5 BEE Be ?2|@E0s x5
T1/10| B¢ SCEE | 8 Te% =& |2kl 5TH10 (2|l B 2| 2Rhs 587020 |3 |AE BE 2 |B)EmEhd 5Om44 || 4| EE B 2 |AB% 59087
400m
SR B 1 |2kis T501%506] 6 [7E W& 2 [BET 5028207 |HA BE 1|els 203087 B2 AB 2 |2RAs x5
/10| BF SCEE | 9 TEEET* Z|2msm 58034 || 2|FRe el 1 |B0& 50med |3 |EAa L& 1 |HE0s 5OF86 || 4| BAE th 2| Ekhs 15007511
400m
5K %=X 2|BET 1503%506] 6 |[=m@ =0t 2 |@E0= A MG EET S 307036 |[BR =2 1 |ahs X%
T1/10[BF =% |10 TR B[ 2|2REts5060| G578 (2| BE 1| BERRE 56709 || 3| R B 1 |[EEEa 5021 | 4|BA % |EERS 5075 74
400m
SR Bx 2 |EEEs T304 6|58 RE 2[|BBT 1501566 | 7 |ER BE 1| E=Em 12507359
T1/10| B F SCoE | 1 T[RE Bk 1 |BEind GOR10 | 2| A% k5 2 |ZfedLihdm | 15020013 | 3 |BBEF AR 1 | BfEdtehsm | 1204506 4 |R)1 BA 1| 2BmesE | 15068001
400m
5|ER =@ 2|@EF 117086 | K& EA 1 |BREmmm | 1212800 [k EBEx 1 |EEmd x5
/10— =5+ e | |2 m| |0E Bl TFCER x5
110mH[1. 067m| 94z ~
T1/10| B 7 6% | 1 TH®E B 1|25 W20 |22k =& 2|2s 565008 || 3|t B+ 2 |Bilm 5OR00 | 4B BE 1 |ERRe 175007554
400mH[0. 914m
FIRE @E 1|2Es 153020056 [LF A— 2|2BIm 3078562 [N BE 2| 2Rme x5
T1/10|BF TR | 2 TIRFEME 2 |ESEs Y A 1503168 3| AT BE 2 |2RRs 503084 | 4| =l EAvA5_<R=A | 153055500
400mH[0. 914m
TR @e 2 |Bbhs x5 FE B | |2REs x5
T1/10|BF TER | 1 ® BE 2 RE WA 2 BE &R 2 EmE BFE
4 % 100mR 1[{EBHAER 2 |EFS 44877 [[2|EH K 3 |G 48F076 |[3|=5F IE#E 2 |EZEEEHG 51#060 [ 4|3%% Z#EH 1|28k B[ 51785
TR ) Bl K#H 3 BEAGRE 1 2E OKE 1
EM EN 2 REE W3 B/ A1 Xig FR 1
5F HE 2 mE ' 2
5(IuO f&A  2|WEG B | 52825 Bg w3 2 |@AES £ R
WF —Z 2 RE B 2
FE KH 2 He Hi— 2
TI/10|BF iR | 2 PEfM S 2 CE EE =m 2 FE B 2
4 % 100mR 1|8iF 2  2|m@Emrssow| 47F089 |2 |B@E Bk 2|(20IESH A| 48§51 3IBH KE  2WEAH A 49F000 [ 4|ILA EFE  2|(A%EG 495072
=L Az 2 BT A 2 BA BE 2 iR XA 2
ST =10 Ft+mges 2 EiE XE 2 TH ME 2
BE BH 2 ER BEE 2 N Bk T
5(AE #%R 2|2#Edsh A| 50806 [[6[f2 T TR 1|2)EEH Bl 52#88 | 7|8K Hist 1Rl B 54%123
ZH HE 2 mE B 1 A EE 1
BH Bh 2 AXE BHE 2 #BA BN 1




No.7
bSvY - T4—ILFTEHE - FiE - BRR - RE - SLHRR

ety B a—r [2] ey FRO0E R-AEEERESS a— 18220543 ] HUE  mE B=wm) 6B S0
A =l B HR gy 2T LSS a— f 223150 | ekl K fEEA
ner| e[ ma | W s P wr | s P wa | M wmoens P e | ) mwews P sk
TI/10| 5% acok | 3 Bl ZR 2 R mm 2 =% —x 2 R BL 2
£ 1000 1|BE fE 2|kmh A | 46m04 258 BB 2|mE sowes |3(FE mE 2 |BEEE | 4B |4|EE e 2[mme 4719
EREZN 2 HE ER 2 T Bk KR 2
BA E® 2 AL BA 2 ik BE Bk iR 2
EHE—5 2 H =5 2
5\LM BE 2|mEat | 46B05 |6/ A— 2|ZNEEE | 5083 BIE %%
ARRIH 2 B A2
TI/T0|BF IR S5 RF 2 A TE R ] T BE ]
4 x100mR 1|#%E BF 2|2E5 4361 12 ()l R 2 (@EES 44595 (13 [SMUBERE 1|/MRHS B | 468028 | 4 [#aLl 3Em.\ Az ATR 11
=% EB EX 2 wE = | mE BE |
||l g 2 B #A 2 A KH Wk S 2
B A
slax B oolmmmm | s BEES %% NEHE A | %
ME £E 1
— — Vi % 2 — o
TI/T0|BF EE S 8o BETAGR 2 WE EE 2 ™R %
4 x100mR 1|55 &KX 1 |2ERS A| 42820 (2[EABXE 2|26BI5 43%15 [ 3|3EME BE 1|KEES 431020 (14[HE SUEE 1 |&ES 43731
XB EX 2 FEH AH 2 RE Ww o 2 BB WE
| |ER me B3 %% 2 Bk M 2 T5 s |
mE AA 2 A
sl fE 1 |ZiE a2 6B B 1|mERE B | 44807 2K %%
miE KA B Bz 2
il 452 BE A2
TI/T0| 57 FEaN T T BA 2 BF B2 2 I A= 2
£ 400nR EmEAR  2|EAE |ssvmo|2(é BmR 2|meE  |3nmpn|3lbl wE 2lmEm |speBn|dks By 1|mEIE | 3546w
WE &t 2 @ fE 2 mE B2 MEE S
a3 WE 2 BE EE o O WF AF 2
=W —& 2 I
5\ E&E 2EEERS A | 355186 [SkRA BEF 1 |FEEERE B | 45078071
ik BREE 2 =3 & 1
AAREH 2 PIPBIAR |
TI/T0|BF TE 2 B Tie 2 LE g 1 =R v
4 400nR ES kE|MEHE | 39%BI8| 20 Bk | [WEEE B [3538831|3|WE =R I[REE C |i5uBe BEER %%
i BR 2 BiE EH R T-EN
LI W gith | X E
E B |
R x5 | |mm owE 1 |mEEs %35
NS S
kS 2
TI/T0|BF TE D B BE 2 HH Es | TE HE 2 XE BEX 2
£ 400nR @l B 2|mEmE A |sH2emTe|2|EH xR 2|mNm  |35B7I|3|EE Bx 1 |2EES A |[s920w2|4[HB BA I |2EES B | 50867
AE BE 2 2 Bl Hz 2 AT 8 2
| |E #E 2 mE Ex 2 BE BT BE A2
BH BT 2 Pif A 2
5|ER mE  |[2EH | 9901B50|6|AAREY 2|HEB A | 3546B2 BE® B | X
BE AL | KA BE 2
BE HE Bt £A )




No.8
bSvY - T4—ILFTEHE - FiE - BRR - RE - SLHRR

Bty =50 a— K |§| B T3 0E HEMEHERLERS a—F 18220543 |  FHIE FE E-() HE 800
FAREE A REAE LSRRGS s 2)ImkE RS a— K 223150 Aok AT #AR  {55A
arr| e | S m| s i, wr | s iR, wa | M wmoens i e | ) mwews i sk
T1/10| B F SCER DR ] Tmes 11 IL T~ —Z 2| HME% B S med 13|55 B 2|mEF m60
= 941 ~ ||
428 wE 2|BFS 1mb5  |15|FFE X# 2[HAF mb0 16| KB Ft 1 |2Efas Tm50 WA Bagw 1 |m@ersso0n | el
| [BK BB 2|AES x5 w"E RBE 2[/DNRHFS Ri5 —B HK 2|zEELssIWw Ri5
T1/10| B+ iR BN Bz 2| Z2kam 603 (+3.8m 10|71 #im | |[EERm 5meY |18 B’A 2| hRES 5mes  |12]EmA mre 2 |HBEm ST (+4. 2m)
ENE Bk 9fir~ | 25m87 (+0. 8m) +3.2m AL +1.9m 435m68 (+1. 1m)
BFEA BRE 1|(&ES 5m78 (+4. 8m |[14|AIL E2— 2 [#FHHE 5m78 (+3.3m) [[15|FIL KE 2|BIIS smi3+2.2m [[16|fFEk BEAN  1(|2)E 5m71
|| /35m45 (-2. 6m) /35m68 (+1. 6m) /A5m54 (+1. 9m) +1. 7m
17EZE BR 1[)2FEs 5mi1 ||18]%&; T 2[&B®Es 5m68 [[19]FH X&H; 2 [PHESF 5m61(+4.2m) [[20| % =Eh 1 |BES 5m53
|| +1.1m +3.6m NAL 45m35 (+1. 9m) +2.1m N L
QA8EBARE  1[BERS 5md6 (+2.5m [[22| BE EA 2 [EEES 5mdl  [23[luAx ZFE 2|FEEF 5m33 (+5. 2m) [[24| R+ EBE 2 [E)IEREES 5m23
/35m41 (+1. 6m) +1. Tm /A5m21 (+1. Om) +3.8m AL
B EET T S 5m21 (26|88 Bk 2 [E)IEIEF s5mi7  [27]3%E & 2[&EF 5m08 [28| K& FEK 2|2HERS 5m05 (+4. Om)
+2.1m AL +3.8m AL +1. 1m /34m83 (0. Om)
29[FE Bt 2(EB®RsS 5m03 (+4. Im [[30[F%F T Hisk 2 [2JIESHF 5m00 [31[F 1THE 2 [mE=S ey [[32]HE ETE 1[EXRS 4m34
/34m63 (+1. Om) +0. 6m +1. Om +3.5m AL
BmA ;TS 1(|BBEIS 4m65  [[34/@E B 1 [REF 4m50  [35|&2F EARE 1 |EE® 4m48 36| KAR # 2|EEEE 4m29
+2.3m AL +1.6m +3.6m ANEL +4.4m N7 L
J[hE B 1 [ENEEE am27 38| ARF fEFE 1 [HEF 19 (2. 4m [[39] M WE  1[PHESP a5 +2.am[[40[;EH FE 2[=EE 4m04
+1. 6m /34m06 (+1. 9m) /23m77 (+0. 3m) +0. 6m
N EX AR EIEELS amid (425 R I 1[AERSF 2n73  [[43|MEE R 1 |FED 2m35 RA SE 1|EHES EREL
|| +1. 5m +0. 9m +3.3m %L
BH =RHF 2[AHS$ x5 X HE 2/&ES Ri5 nH ®’E  1|BEIE Ri5 & ®E 1|2BE= Ri5
11/10| & B+ R 9|mE E 2|RES 8m61  [[TO[LEFF+ 2[/MRHF= meg  [RIRE wmE 1 |/NMRHFS me2  [12[UAR T 2 |EHEEe m43
FatL 1% [6. Okg| 9z~
BEE XE 2(EFS m3d |14 HA BEX 1[EXES m28  |15[EAX EA 2|E2fAEs 6mb3  (116]/h ik ML 2 [EFS 6m03
BE EE 2|FHs Ri5
11/10 %‘%%? Ao E% 9 | MnFE E AEETS 25m96 [[10[ U FA 2 [/NRFHS 22m94 1o ES 1[EXES 2m72 12| K%t AKX 1[EEES 22m64
M2 1. 75k| 9~
18|# EE  2|RES 22m49  [[14|Buth &k 2 |/MRHFE 21m07  [[15[3FA BEA 2 |2HBfEs 20m49  [[16]5A Z=H 1 |EEES 20m01
#}/RK —M 1 |BEhs iR L
11/10|BF o8k OV 97428 v 107Y 1 |Biim: 40m88 [[10|£H EX ?2|EEfEs Im9  [11EH EBEE 2|EFRS Im/7 122 F 2|@iIs 39m72
1) #%[0. 80k| 9z~
1B|E# x— 1|28Is ImiT 14 2E BEA 1[EEES 3Mmi4 15| K+ RE 1 |BEES 3/m74  [[16/hh BER 1 |BEES 33m96
7m& &= 2|#Es 2ml7  [[18|EF KB 1 |EEES 28md9  [[19|#x% i 2 |2HBIE 21m03 EEKXE 1|RES HREL
XEH BE 1|EEES Ri5 EESEE T Ri5




No.9
bSvY - T4—ILFTEHE - FiE - BRR - RE - SLHRR

bl B a—F [22] pitias  THS0E R-AEBEEESRS a—k  [18200543] R BE E=(9) FB B-00w)
A R=MAkEEEREGS B RIS a—F [ 223150 | e #A  {58h
ner| e [l ma | W s P V=T i wa | M wmoens P e | ) mwews P sk
T1/10| &% S8R | 1|2 om 1 |l & 1 | ERme 28016 | 2[I0 T @R 2|2& 28050 [[3|BE W | |HaEes 2050 |4[ARBFrR ?|2BRe 128559
oo SR BEE | 2Rme 2865 (6|15 Hx 2|k 7068 | 1| HE BEF 1 |2BRs 12079 |8 |RERRT 2| HeRs 121084
BF Bz 3| ERpEHe x5
UESS ok | 2|H.om 1[I Bx 2 |HEEs 2850 |2|AB®mLE 1 |2& 28077 |SLOtEE 3 2s 120080 | 4|A ¥ 1 |&mamr 127503
o 5IXBE BE 2|EREREmE | 1390 |6|GE =@ 1 |DRERESF | 13815 | 1|88 25 1 |SREReF | 13871 NERRR 1 |meetsoo0n| KB
ER xb 2 |2Rfs x5
UESS S8R | S |Y1. 20| 1B MEm 2 |HERmEE | 128095 | 2|EBk kAl 2B/ fERFm | 1901 |3|hE =W | |Eheme TSF12 | 4|F% T2 1|EHER. 13%520
oo S| ERFFRmE  2|2mas P2 6|k =R 2|AB® 3126 ||7|>—t1 515 2|kEs 13738 |8|EREEZ 3 |=meLs5709 | 135560
B RS 73
T1/10| &+ TR |4 TR BRE 2 |ERRS 3033 |2 [BAGATE 2|2m® o3 |S|SREBE 2|B/kTE | 1904 |4[EBH D 2|&mam 1350
oo DI B 5 2|BIIREE | 13850 |6|RE =W 2 |BEm BB |7/ &H0E 2|Ef= 3077 |8 |EHmRE 2|BINEeT | 13084
2FE%2ZE ?|BhH& x5
T1/10| &+ TR o[ 1|RA TE 2 |emRm TSB36 (2|8 e 2|ekhs TSB42 |3[BANER 2 |Bake TSI4T |4 | RARIE 2| BBRm 13749
oo 5|LE ®Zx 2[RHE® BW55 |[6|EE Rk 2|AB® 3066 |7|/MNET T 1 |Emerssoon| 13878 | BB KE  2|BNS x5
AT ExR 1 |EBES x5
T1/10| &+ TR | 6|0.0n| 1| Ak &I T |BERES B2 (2|XE BE 1 |Ehhs N HECE T 358 | 4|HE &B 2 |@mar 3701
oo S|LAHIE 2| RS 3093 |[6[FH% tx 2|BE® 3998 | 7|RE I  2|BET 14016 | 8|HA =% 1|1 hFe 14753
BB £5 2|PE®S x5
T1/10| &+ TR | |0 1| AEH BE | HeEs B2 (2[ABL o4 1 |BNREm | 19825 |32 &m 1 |RHAs B2 OEEEEEEE TS 13759
oo Sk EH 1 |[/MRFE BHT5 |[6[fF mER 1 |=ne BBT6 |7|RB =& 2|RET EZEN BEEELE I 13192
9|FIE Fm 1 |amam 1432
T1/10| &+ TR |82 T|[ER Hx 1 |RHAE TSW68 |2 |BEMBIE 1 |HEF BB (3B =B 1|&/ ekte | 13056 |4|/\k @ 2|emas 13788
oo 5|EEB LE 1|BES 3894 |[6[IUK fE 1 |&Enas U1 |[T[RE BR 2|AH® 4H20 [8[F L 1 |BHas 14734
BEE B Ri5




No.10
FSvD - T4— )L RTEHE - FiFE - R - R - BBBEE

bl B a—F [22] pitias  THS0E R-AEBEEESRS a—k  [18200543] R BE E=(9) FB B-00w)
A R=MAkEEEREGS B RIS a—F [ 223150 | e #A  {58h
arr| e | S m| s P wr | s P wa | M wmoens P e | ) mwews P sk
T1/10| %% SCEE | 0|06 1 Bk MR T |BET ToF089 2[R B 1 |Phe T390 |3 [l ExE 1 |2NImEm | 14906 |4|5R Ba  2|=me® 47516
oo 5B BR 2|aBH 418 |[6|mE BE 2|BBT 419 7|0 BA 1 |amRs 4019 |8|TH =7 2|E2EG 147523
O RABEDHE 1 |2fEdLese | 14129
T1/10| &+ 0ok [10[+4.on| 1[M& BE& 1 |mEs SBT3 |2 |BR BE 1 |B/ tktm | 19871 3|88 Ha 1 |SIImem | 10186 |4|LA & 1 |a@mam 147503
oo 5®EE ET 1 |ABT BT |[6[MNLEHE 1 |Ehe 1 | 1|F fem 1 |ABF 4012 |8[Aa MR 1|2JImesh | 148530
O[Tk &ZE 1 |ZJIdseR | 149539
T1/10| =% 08k |11[70. 0| 1 [Emk &de 1 |ZJImEER | 140922 |2|=fh w1 |EfE T4F030 |3 [aF =& 2 |=mam 41067 |4|MEbb=  2|=/mess | 14168
oo Sl 22  2|E0m 4T |[6|BA @z 2 |BIImme | 14074 |1|6E HE  2|REs 490 || 8|k &K% 2 |ZJImzbh | 14996
ME ZE 1 |FEe 73
TI/T0| %% T 12|20 1|7em BB  1|B/eRTE | 14003 (2|0 B 1 |B/ekTe | 14539 |3|BRBEE 1 |BEGE N DEEEELE 147046
oo 5|H0 Bk 2 |lRis 454 |68 %R 2 |BmBims | 14064 |1|B =& 1 |ERT 14765 |8|BE &M 2|BET 14774
9[Ew BT 1|2)IfEHG 145079
TI/T0| %% T B2 on 1| RE EX T |ERE 7 APSEE AL T 49033 |[3[M@l ®  Z|RFE 4059 | 4|28 Bm 1 |ABT 147064
oo 5IFE  ® 1 |BIIRSE | 14965 |6 eE &A 1 |mET 47066 | 1|EHRERT  |=uvas—=<x=a| 14178 |8|EE ZE 2 |RET 157502
9I[PE XfE 2|FHSF 155012
TI/T0| %% TR A2 T | TRBT = T |BIEmmE | 1400 |2|FE BR 1|B/ EETe | 1408 |3|REHNY T |BINRmE | 4871 4|08 NE 1|5he 4075
oo SAE & 1 |BES 479 |[6[laT B3n 1 |Bmitess | 14999 |/ |BREAF 2|BIIEES | 15503 [8|KE =H 1 |@&ES 15810
9|IuA £E 2|BJIIEEH 15¥013
TI/T0| %% ok | 10|72 a0 1| fak 1 |ABE 455 | 2| PR 1=c 1 |BIIEEms | 14578 (3K =R 1 |BREmm | 14088 |4|KE HE 1 |BIBmer | 14986
oo S |[FBHAET 1 |RFT A7 6|28 @i 2|zeeissow| 15827 |16 =& 2 |AET BN BNEEEEEETS 158049
TI/T0| %% o | 16|03 | 1| AE =& T |EIEmEmE | 14D | 2|BE BF 1| BIREE | 14590 |3|FR B 1| BINRSDE | 165816 |48 =& 2|Emme | 1594
oo 5RA BE 2|ABH 5966 |6 [0 1@m 1 |=)mess | 15889 | 7[/NE BE 1| HES 599 [8[KE =@ 1|mEs 167515
TI/T0| %% NI EAT EEE N EIE L AR LS 510 |38 ##  2|PET 5126 | 4|FE WK 1|ZJImepr | 15829
oo S[IEs B0 1 |BIEREE | 15833 6|54 BR 2|2)ImEs | 16836 |1|BA @& 1|BIIREE | 15846 |8|LA ZEF 2|6BF 15574




No.11
FSvD - T4— )L RTEHE - FiFE - R - R - BBBEE

bl B a—F [22] pitias  THS0E R-AEBEEESRS a—k  [18200543] R BE E=(9) FB B-00w)

A R=MAkEEEREGS B RIS a—F [ 223150 | e #A  {58h

ner| e[ ma | W s P wr | s P wa | M wmoens P e | ) mwews P sk

T1/10| %% 08k |18[+3.om 1 |AEE A= 1 |9e TARb8T |2 [BE his | |BIBRabs | 100042 | O|FRk = 1 |S)IEess | 10801 4| BREEEH 1 |ABS T5R51
oo B ERICEES 5168 |6 |BAER 1 |RETR 880 | (A8 &2 2|2& %% A& &F 1|HES® /3]

T1/10| &2+ B | [ 1T | Eeee 20705 (2@ mp 2| eRAe 5190 |3|LHh MR 2 |eRAm A NEEES T 267534
o 5|RE w1 |2Ree 26782 |6|>—t1 515 2|KEB 21109 | %A WA 1 |EbEs x5 REmMRT ?|BEfkEs 3]

UNES3 ERE S A KT I P S B [ 267006 (2|88 18I 2 |HIREEST | 200037 |3|PEr Bk 2 |mmetsoown| 20138 |4|LOtEm 3|2l 267559
200m SR BEE | 2Rme 267599 | R0 Ex 2 |BEAs x5 Bl tZx 1|2RRs %% NERRR 1 |meetsoo0n| KB

T1/10[&%F S8k | S [H1.0n| 1 |EEA B 1 |=mam 269084 || 2|EF fax 2 |=leme 27032 3| REBE 2|&/ekTm | 20032 |4 BABKE 2|2@T 273067
200m 5[EE W 1 |ZiemE | 2/068 |6|AR BEE 2|SmmEm | 2B2 |J|HE 0x 2|&Gmad 189 | |[ER *@ 2 |BRfs 3]

T1/10| =% S0k | 4 [*2.0n| 1 |Gk T= 1 |ER® 2131 |2|AE mE 1 |Hake 21T | 3| KE BE 2 |mET 28003 | 4|BR *= 2|=&T 2850 71
o 5|LE %z 2| PET T4 |6|FR_DOh 2| BrEIEE | 2008 | |[EREEE 3 |mEEtsoow | XRis

T1/10| &+ EEAEGRE HEERE L 207538 | 2[R B 2 |mEd 20764 |3|HO Bk 2|@lm 20095 | 4|nE Ba  2|BE0s 307574
o B RIEEETS JIWI0 | & BT | RBER& 73 WE & 1 |mET x5

T1/10| &+ T |6 o 1B BE 1 |B/EKTE | 28038 |2[BEHEE ?|E2hms 8791 |3 ERHOE 1 |Bhm 20021 | 4|0 & 1 |B/ ERTE | 20047
200 5|MEFERT  |mevas-<x=a| 200590 |6[W& WE 1 |ZIIREFE | 301803 | 7|WE NPE 1 |mEs 307507

T1/10| &+ TR | |2 0 1| AR 1 |B/eRTE | 0899 |2|F&E ¥ 1|BIIREE | 033 |3 |GIGER 2| ZIIREsFR | 045 | 4|2+ ME 1 |ZJImess | 30885
200 SMABT & 1|ZIIREF | 31801 |6|HA @z 2|BIBmms | JIB08 | (2@ #E  2|REs x5

T1/10| &+ EENEIGAT EEE T 0064 | 2[FEHLY 1| BIREE | 088 |3|am e 1 |HERT 31086 | 4|TR BiE 1 |BIRES® | 31992
2o 5| EROREE 1 |AmE 32FP51 | 6|FEr WK 1 |ZIImaEbR | 33180 | |[AmBIEE 1 |HbE& x5

T1/10| &+ SN e =& 1 |2kas TSIt | 2|EH BF 1 |BEEm | 152008003 |ET Rz 2 |E2Rme U AEGEEE T 15021520
4o 5|RE Rk 2|BlEmm | 1502064 6|1A w3 |BIAEE | 150371 (%A WA 1 |EEe x5 ¥ &k 2 |EEme x5

T1/10| &+ 0k | 2 BRI 2 M EEEEE N G R 2 HEEFEE IR G 503 10| 4| A &I | |HakEm 1505803
400 SNEITER 1 |BERER | 1906000 6|FH @E 2 |RES 506801 |1 [ EEREE 2 |BEkEm 506114 8[MIR BxE 2 |BEm 153067530

T1/10| &+ oE | 3 TEL0RE  2|Res TH05001 [ 2[A& E% 2| RBRE | 1H0/D8| I BRESE 2 |Ehfas Th08B03|4|XE == 2|2Rds 7087580
400 5L &=k 2 |BRES 50900 [BEF AxE ?|2kts 73 =& %k 1 |@Es /3] g P x5




No.12
FSvD - T4— )L RTEHE - FiFE - R - R - BBBEE

bt B a—F [z sities  PHSO0E R=AEBRESS a—F 18220543 |  #¥IR SE B4 G B0
T (A H=mkE LSRR S s e 2 ZhELFEES a— R 223150 e AT #}HA  1E8h
ner| e [ ma | W s i T B, wa | M wmoens B e | ) mwews B, sk
T1/10| 2+ SCEE | 4 TREZON, | | EREs 1508708 2 [flE W1t 2|AB@ 00/ 12| 3 [EF Bx 1|a=T THI0M46 | 4|10 Bie 2 |BES T 108577
400m
BEEE A T511%78([6 [ B3 2 |[2Es 2128000 7|LA BES ?|eBEs T314B25 |% BRAE 2 |BEe x5
T1/10| &% SCEE | O T[EBE & 1 =2bEs TH08861 | 2|10 BEF 2| E=Em 1218103 || KR #R  1 | BfEltoE x5 TR BE 2 |eRitme Rz
400m
HF =2 2 |BbEs x5 =% = 1|@Eds x5 LE =B ?|EELmE x5 BA B 2|EfEdLEd x5
T1/10| P F&F ! ek | 1| An 1 | EBRRE 2| 2/EeE 5703 || 2| =F W5 2| 2JIRLE 5855 |3 [AE BEE 1 |FEHEE 161028 |4 |MiE Hi= 2 |/NRAT 67591
100mH[0. 762m/8. Om] | |
SEE EZ 1 |2)=SmTD T3 |6|BEE EBx 2 |ABT 816 | 7|=@m = 2| WE® 8871 ||8|ER &5 2| mmd 107072
NI B 2|AETF x5
T1/10| P F &+ R | 22 om 1|77 15T Z|BRRET 8855 | 2|98 e 2|/MRFTE 9939 |3 |aR =& 2|ABTF 10951 |4 |15 &ie 1 |2JmeE 107064
100mH[0. 762m/8. Om]
SI®mA =5 2|/MRHEE 201820 | 6|hEdiciE 1 |ABF 20962 [T[EAR @ik 1|ZIIREE | 201068 |8[5kE hHe | |Ziemms | 20989
95 ERE 2|BBT 223518
T1/10| &%+ TER | 1 TIXE =k ?|2kms 506023 2|28 BEx 2|2= 15061036 3 |2 BR | |2RRs 15061085 | 4| KB Hx 1 |Bll= 125067586
400mH[0. 762m
HEE AR ST 153095574
T1/10| &%+ TR | 2 N SeE BN G E T A HEEEE I E T T328%23| |RE &M 2 |Eie x5
400mH[0. 762m
ERpoL 1 |BbEa x5
T1/10| %+ TER | 1 i Ew 2 MENEZ AE =& 2 BE Erx
4% 100mR 1| #Ex 1 |EFS 545029 [ 2 |kEmZE 1 [mmEE o | S6R11 |3|WOcoa  2|sEmEm B | 56867 |4|a% BEH 1|A@E B 567069
HE 2 &% BHE 1 WT km 2 wH Em 1
| |t E 2 WE EHR 1 ZL KRB 2 BHULE 1
LA ZEF 2 WEbhE 2
5EH# ®mZ= 1|as%e B 59%b55 [ 6(mmiE &E 2 |miumgser | 1901573 sEtEh Bl XIS
A BHE 2 HH BLE 2
Ik FE 2 i my 1
T1/10| %+ iR | 2 FE tx 2 TH ma 2 TelE e 2 AE T 1
4x 100mR 1|8E mH  2|&FED A 54054 (2 |&:E B 1 |2Emse | M4BT (3|EE o 2|FEsT 55075 |4|EEE LE  1|BEEE B 567528
Ik 1BE 2 KN ER 1 S EH#E 2 A E® 1
| @B k& 2 KE BHE 2 Heh BE 2 Bx HME 1
WT R BE O3 2 RIBHEE 2
Bl RAMRDEE  1|25Eksph Al 568045 | 6|hiB Ey 2 |H|pES 577048 [|7(|BEZx=4F 2|2)umEE+s E| 58026
hek BE 2 hit BE 2 MuHTE 1
BEZo0h 2 Kig =E ) hEHNY 1




No.13
FSvD - T4— )L RTEHE - FiFE - R - R - BBBEE

ety B a—r[2] ey FRO0E R-AEEERESS a— 18220543] HIE  mE E=G) B 8O0
A AR RS R s B)ImE RS a— 223150 | ekl K fEEA
arr| e | S m| s P wr | s P wa | M wmoens P e | ) mwews P sk
ULESS R [ 3 TRAEE 2 BN BE 2 EE EX TE §F 1
4 1000 1®% &% 2|@snx3E | 6266 [2|EB BE  2|Am% A | 5344 3|FR 5 2|mimms of Same0 |4|mA En  1|MEHE | s4Bol
#x 22 AHDE 2 BE & #x BE |
M EE | miE B 2 AL B | B tx |
TR &5 2 25 T | =] 3: I
slEm & 2|mEd 5679 |6|ffE &M ||maiae | 5765 | |KAMIME 2 [WEES A| KR BER %%
LG 5% ) ae_gp | i i
_ H s 2 g ¢N
ULESR IR ‘I HD 2 RARES 2 AEHEE 2 BB _g% ]
£ 1000 |+ mE 2|miemm | 4w (25RO |WEmE | 4840 (3|HE BF | |[wEms A | wmTs |4|LHFmE  2|wiEEE B | S1B1
I OBE REBRT 2 B tx TR #E
P D IE fE 2 WA £ 2 B ARE 2
AE EE ] N HE 2 HE hRE 2
sk B 2|mmms | sipes |6|ME 0= 2|mEmad | 52m3 |T[EE =R 2|2Es 521470 wERE C| X3P
o #E 2 HE &R 2 WTENE |
_ 5 aE 2 S EEHYY |
LSS FEaN =R N WLOBrE 2 g0 B 1
4 x 400mR T Fik  1[EBERS D [45932836(2(>—t1 515 2|HER 453345038 || 3 | ILAR B 1 [EBERS C | 495370562 BES Ri5
KAHEE | #Il Bl 2 mE AB |
a5 Bk | BRNGS WTHEE |
MRS 35 Clers %35
ULES AW RE =8 2 TRAEE 2 ) X@ EE
4 400nR TR BE 2|2E® |4 2|Bk £E 2|E/eaTE | 45000|3[Ma RB 2[REES A [sapels|Es BB 2|2EEE | 453704
HE HE 2 tH EE | A EE 2 #E BE 2
| leE mE o PE AR Hip BE 2 BB % 2
EJITS S )
S|i0Cm#  2|EMEE B | 4953714 SRS ¢ Ri5
BESER 2
LF @S5 2
UES TE D FABHE 2 B x| T AR T TR K 1
4 x 400mR T|Af /& 2|248Es A [4503896(2(ILT #3 2|25 4530080793 |BIE Bx 1 (BEES A | 4514824\ 4|£H #F 1 |HEES 453197049
X8 FX 2 BE @2 2  ARE 2 Kt B
T ABBLEE | LR $E | AE A% |
nE th 2 N EX T
S|lME W 2|BEES B |4923m06|6[mIl Bp 1|2EEE B | 452574
HE BF hE BRI
LHEEE ) hELOE |
LES: T SRR B | [ENERE | W0 (OER=cr 2[ENERE | 0 | K& FE T|EREART | BRGL | [BA 5 |BEES | REAL
mg |~
FE BE 1|HET REGL| (BN &% 1|EER EEGL| ([UF &E 2(@NRET | KB | [FN EE Z|RET %%




No.14
FSvD - T4— )L RTEHE - FiFE - R - R - BBBEE

Bty =50 a— K IEI B T3 0E HEMEHERLERS a— K 18220543 | HHIE FiE B-(199) FE 8- 000
FAREE A REAE LSRRGS s 2)ImkE RS a— K 223150 Aok AT #AR  {55A
ner| e [ ma | W s Fi R T A wa | M wmoens i e | ) mwews i sk
T1/10| &%+ ik IBA Bx | =Rhe 4me0 10|85 Bk 1| RBR= o7 T E =R 2| 2he R IREFEEEEESET 54 (3. 5m)
FENE Bk 9fsf ~ +2. 0m +2. 0m 234m28 (+0. 6m) 234m31 (+1. 9m)
13|#EHE #HF 2 ([EES andd |14l ER 1 [/MRFH 4n40 (+2. 1m) [15[/\K  ImfE@ 2 [SEm& S 4m38 (+3.6m) (16|85 K £H> 3 [HEH 4m37
+2.4m N L /34m20 (+1. 5m) 234m08 (0. 1m) +4.4m N7 L
B8 E5 1|2)RaE [m6esm|isladE =m 1 |2Es m32  [[19EmE #F 1|EEERS 4m30(+3.2m[[20[3R  HE 2 |[EBEEs 4m25
/34m26 (+1. 2m) +1. 9m 734m23 (+1. Tm) +2. 0m
20T XRHE 2|HBES 21 (3. 2m|[22[BE EF 2[|BES IEICADI PR ES: R 72 2m|24(=m EH 1 |[EFS 4m17 (+3. 2m)
4A3m94 (+1. 2m) 433m95 (+0. 6m) 234m05 (+1. Om) 234m00 (+0. 6m)
25 HE  2[/MRFF a4 26| FTEH FEH 2|EBEEZH (w23 m|27|EBRERE 2 |AEF am12  [[28[luA B 1[EEHE=S 4m10
+4.5m 2L /34m08 (+0. 1m) +5.Tm L +1.3m
29[E1lL k2| A 410 [[B0|/hLFETNE 1 |ERS mog (+3.0m [[31[#2 T #ax 1|2 dLEHP M0 [32[FAR B 1 |skES 3m87
+3.1m AL 433m83 (1. 3m) +1.1m +5.1m N L
R EE LGRS 3m85  [34[Em EF 1 [|AEF med (+3.2m [[35[85 R BE  1[MEHS 3m83 (36| LLAHETIE 2 | AP 3m81
+0. 8m 2A3m75 (+1. 2m) +2.0m AL +0. 3m
7| AT 1 (2)IUFEERS  |3m78(+4.0m) [[38|chEk IhZ 2 |2ABILERch  [3m68(+3.1m)[39[iFK ERkk 1 |BAFHEH 3m62 |[40|F EF 1 |2)IIESG 3mb5
243m70 (+1. 9m) /33mA44 (+1. 6m) +3.6m %L +0. 7m
A[RE 122 1| 2)Ess andd  [42]FAR ABR  2[BNESE 3 [[B[HmAKShF 1|EfEEs 3mdd WOZCh# 2 [&EBE= ERAEL
+0. 1m +1. 9m +4.9m AL
wF Ak 1|HEES Ri5 BHRAE 1|#&ES Ri5 Wy Ay 2|25 Ri5
11/10|hEZ+ 08K I|IXKHEH ZEZx 1|2)IIFsH 6m20 10[/htk F2 2|HEF 5m67 MER BE 1 |(2)EHS 5m66 INEEE I 5m16
Rt 2. 72k| 9~
miE B 2|AES$ x5 RE #B  2|A#S$ Ri5
11/10| & F RoEX 9ZH Z=H ?2[HKES 15m39  [[10]#K #WE 1|EfEns 10m57
A% 1. Okg| 9~
11/10] & F RoEX 9 X% EE 1[EES T6m34 EIGEEE] Ri5 Al EBF 2 |FHERS Ri5
X5 L) 33 [0. 60k| 945~




